yave motion? Actually, it follows from Newton’s
nd law. Imagine a very long strmg under tension 7. Ifit is displaced from equilibrium,
net transverse force on the segment between z and z + Az (Fig. 9.2) is

AF = Tsin@' — T siné,

e 0’ is the angle the string makes with the z-direction at point z + Az, and 6 is the
esponding angle at point z. Provided that the distortion of the string is not too great,
angles are small (the figure is exaggerated, obviously), and we can replace the sine
gent:
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Figure 9.2




